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FIRST YEAR HIGHER SECONDARY MODEL
EXAMINATION, JUNE 2022
Part — 111
ECONOMICS

Maximum : 80 Scores

Time : 2% Hours
Cool-off Time : 15 Minutes

ﬁ?enera! Instructions to Candidates : \

« There is a ‘Cool off time’of 15 minutes in addition to the writing time.

* Read questions carefully before answering.

Calculations, figures and graphs should be shown in the answer sheet itself.

Malayalam version of the questions is also provided.

Give equations wherever necessary.

« Electronic devices except non programmable calculators are not allowed in the

Examination Hall.
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Answer any 10 questions from 1 to 12. Each carries one score. (10x1=10)

1. Who among the following economist is associated with the estimation of National Income in
British India ?
a) V.K.R. V. Rao
b) Amarthya Sen
c) Mahalanobis

d) C. Rangarajan

2. Which of the given factor is considered as human capital ?
a) Machinary
b) Equipment
¢) Trained labourers

d) Computers and electronics

3. Integration of the domestic economy with the world economy is known as
a) Privatisation
b) Globalisation
c) Liberalisation

d) Nationalisation

4. Which method 1s used for the estimation of population in India ?
a) Census method
b) Sampling method
¢) Random sampling method

d) Lottery method
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1 ayovad 12 cuen 82103 )@Bgla@d agomsslelo 10 ag)sp@milm 9EmEenY @), 66} 8mRod allmo.
(10x1=10)

1. @oe¢ emmigesI@ Enliglay’ oomyless saUBle QMM BHMB0BNHRIYDODI ErUMLEAS
TLOTUIETTE> LRO(REETNTD @DROET ?
a) al. o, @d. all. 000y

b) @ad®yexTuad
c) manenemosniimy
d) mil. eowEoRm

2. @06 OMISIEsnQIEd Bm e ymeImMace] BN CRISH:0 AR® ?
a) WEMEINEIRUD

b) ©ale0emenBud
¢) asduflemo emSlw emosleoserd

d) walY50)mEL0 RIBEROETIRRO
snaymon Moswogda fleaymaieam @A SHM®

3. @EREYDO MTUGLISMOW, BRI rumMUG el

a) (Y00 Y LIBBENVEMO
b) EDENOGNIBHENVEMO
C) ©EIDDBEVEMO

d) esufl@m@ienoemo

4. e yiad BMATVoE) HEMEBOS)0] maum&miroﬂa'i' a@® Bl @Rem £aIBROUIBOM® ?

a) exmadmuay dlof
b) auoopjlostr @l
¢) woayalle: cruooflostd @l

d) eseogd dlaf
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S. Which of the following is a measure of central tendancy ?
a) Standard deviation
b) Mean deviation
¢) Anthmetic mean

d) Co-efficient of variance

6. Which of the given system is not included in the Indian System of Medicine (ISM) ?
a) Homeopathy
b) Naturopathy
c) Ayurveda
d) Allopathy

7. Which of the following is not a function of the Environment ?
a) Supplies resources
b) Degradation of land
¢) Sustains life

d) Provides aesthetic services

8. Cultivation of land collectively by people in China is known as
a) Five Year Plan
b) Commune System
¢) Green Revolution

d) Great Leap Forward

9. Who discussed the concept of poverty line for the first time in Pre-Independent India ?
a) William Shiras

b) Jawaharlal Nehru
¢) Dadabai Naoroji

d) Dr. Manmohan Singh
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5. 0¥ madeldleanMaiad @3 (M@ BOME:0 aB®IEM ?

-

a) @M Qy@Il@Oomo
b) @ow) uyeilaomo
C) L@ MOWYE
d) cuyeilom wemdsso
6. ayes maelaldenimaueic ‘o miglo 80 oawlmiad’ (ISM) -ad 906 ISoEm®
Q@6 ?
a) Ganodiewon @i

b) mMO24800AIm]
C) ERW@IEUA
d) mneeoq

7. anaes mdelaidenmaeid admnudaiwes woao @OROTDA agy® ?

a) llenustBud (IE0Mo H.2IQUMN]

b) oo @valaio
c) goud mleidloyemaomy

d) ovampmyEEi M)
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10. When two related variables are moving in the same direction, correlation between the
variables 1s known as
a) Positive correlation
b) Negative correlation

¢) No correlation

d) None of these

11. Index number for the base period is always taken as
a) 0 b) 1

¢) 100 d) 10

12. Variables which can take any numerical value is

a) Discrete variables
b) Qualitative variables

¢) Nominal variables

d) Continuous variables
Answer any 6 questions from 13 to 21. Each carries 2 scores. (6x2=12)

13. List the financial institutions India approached to manage the economic crisis before the

implementation of New Economic Policy in 1991.
14. Over the summer journey, Mr. Rambo finds the fuel price of six States varies as given below :

102, 104, 98, 95, 100, 108

Calculate the range of fuel price over the States.

15. List any two goals of Indian Five Year Plans.
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10. aJOMYE MUIMLOISS O6NE 20D BE dnaieelss B0go HEMBIBEMIOMD, 2I0BBUD

®anle;es Mansnimboe ERGIeQSIMEY
a) eaJomilglad anenIMLo

b) emmgial manenimo

C) ManNENIMWo DL

d) socue@omMyme)

a) 0 b) 1

¢) 100 d) 10

12. agy® muosu myeyiio Mlexdleandm ¥l aleemBad
a) @RILOTXNE 2IOEHBUD
b) memocmE: 2IVEBRD
C) MOAQBO® 2IMEBBUD
d) uam® 2R

13 ayoad 21 cue @ato6ysmegdiad agemmiens 6 agepaiial ames ageime. 2 apod allme. (6%2=12)

13. 1991-@ aiy@mad cuomuETle: M@o MSaflelndaymaia’ ayemosiwowi eam yoilad
afleiflorloymm qomuEsile: (lalmaul 66d:@00 6210 oamy mudlallal WMEO0)

(MUOOAIMETBELOS Gald alSld6)alS)@Tm)id,.

14. dlgud 020eenId MO suM@envel WoEIG, @A Motusomemglasas eomum allel @oe
madelldlenym moesia aymPmeagldenymamon s,

102, 104, 98, 95, 100, 108
morunomemssleel snmumalieiwes aowerml (Range) &emea0Heid.

15. e eI aALBABRIOS aROmERIEljo E6NS Rld IR el 6.0 Q..
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| ' : | 1a.
16. List any two areas, which need special focus as a part of rural development in Ind

17. ldentify chronological classification and spatial classification from the following :
a) Number of Covid patients in different States of India

b) Population of India from 1951 to 2011.
18. List any two features of a questionnaire used for data collection.

19. Write the economic term for the given below statements :
a) Index number that measures the average change in retail price

b) Index number that indicates the change in general price level.

20. List any 4 steps towards making a project.

21. Write any two sources of data on unemployment in India.

Answer any 5 questions from 22 to 28. Each carries 3 scores. (5%3=15)

22. Write a short note on ‘Green Revolution’.

23. Distinguish between formal sector and informal sector of workforce with suitable examples.

24. Mention any 3 advantages of personal interview method of data collection.

25. State the term of the following :
a) Person who buys and uses goods to satisfy wants
b) Person who sells goods to make profit

¢) Person who employs somebody by giving them wage.
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sncmy@ies) madlem alle-mm@ien ool (IEM ¥ (BEL EDAUDYDISE B6NS GAE) 8l
SIS O

2116 MadeIidlen MG @0emMY® AUdyfex0emo, (unellw QUdH06Mo agyTrial
ANBLISETTT) ag) LIS
a) svomyiees alalw momoomemslasl el aeoufle: e ag)go

b) 1951y 2011 eSS EHADMD RMIVOEL.

Al cnaIEemETIT Halcwoulleanym ealoapaelwes agomesslelo oens mleuRat @B
el 019 1.

2)U6S MTSIISIES (A ITRIAIMGRIOS MOMIBTTIE: alBo ag)LABYH:.
a) 2llgio alleios weowdl @ogo @RSAHMM M2 lle:080

b) ealomy alleiee mdgo mgallafleaniom quyalle:omso.

830), 60 MYI0IHOMEAMISS aRe®mB:lelio 4 RISEBUID alSleenISiOTND:.

00y i@, HEARNSPQ@IOS BEMERERD LIEENIM afe®E:Ial o EeNE HONISEIBUD ag)#I®IS:.

22 oo 28 cue 2106 ysdlad agexmesieljo @ReRi’ ag)spR@UIMm QOMAORYP ™).
3 eapod lime. (5x3=13)

22.

23.

25.

an@i® lg JOI6XoTD) &y0la) B} 62108 )(lal ag)23mid:.
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@069 NABLAIBH6LTNOURYOS B0 (IMDINNH6) ).

a) @ROLULYEIRMD (MHOGLRYINEAM TOWMEBIBUY CLOETBEW Y0 HAIBROUIBEBD o H.2IGILTN L B(T)
b) eneo amsymaiimomi quowmensud ey el

C) BOUBMO EXH:0S)OTB) EREXVEWEIEIL0 BEOLNOBESIHBEIM QB
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26. Expenditure schedule of a first line Covid centre in Kerala is given below. Show the expenditure

in a Pie diagram.
Ttem D Expenditure in

| 4 Percentage
Ventilators 8%
PPE Kits 30%
Pulse Oximeter 12%
Gloves 10%
Miscellaneous 30%

27. Calculate quartile deviation for the following data :

20, 22, 24, 25, 26, 28, 32, 38, 39, 46, 48.

28. Construct Index Number from the given data by using simple aggregative method, considering

2010 as base.
Price per unit
Commodity —

2010 2015

A 80 | 95

B 50 60

i C 90 100

D 30 45

Answer any 3 questions from 29 to 33. Each carries 4 scores. (3x4=12)

29. Explain the measures that are initiated by the Govt. of India to improve the agricultural

marketing system in rural areas.

30. Analyse the various strategies that adopted by the Republic of China in their developmental
path.

31. Analyse the state of infrastructural development in India under the British rule.
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26. c&080WOR 81} (IIaAlS 0l aflSlEnd EHM3ETIOe) e .21eI0 alSld o6
@S RBlenmy. ealeial algld: Ol WO B:06Me6 .

ealein’
e (dmadmeil)
ORI eRIQOYB M # 18%
PPE @luad® | 30%
LR soemIdIga | 12%
OOBQYLOEMD I 10%
- OR880 ] 30%

27. anaies maeleldenym COMEBEINSs 2I®BMOE: QUNBIWIMo B6MBNIBNYS: !
20, 22, 24, 25, 26, 28, 32, 38, 39, 46, 48.

28. 2010 aflel @e<lmunomade aidlmemle] esxxiel melo ol (Mloalld @oEnFIOT dREEHW)
DIEONOQSYET Vg2 lle0so Midaslenyd:.

en) @enlg alles
2010 2015

L A 80 95
B 50 60
C 90 100

‘ D | 30 45

29 aymad 33 cuen aaloe)BEw agemeiele 3 agepEniim 9EMdo ag)#imd:. 4 aapod allme.

(3x4=12)

29. (odlem soeueiRlerl B:00ale: allatemm moallwome OM2IOSHEMMEIM EOIM 0
neusnead msqlenssle msalsledd allaidlenid.

30. dlgep]le6) 80al 66.21M, EROAIOIOS alle:mm atomaid msqflenssle alalw emeBd
lvodmeimo 6).21QAd:.

31. (en/1lasf @oem@Miid &31Hah MY BMSIW alURDEDES MVIB sadl@mumo Allved:eimo 6.21Qj3d.
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' : - 1CS 1 st. Construct a
32. Following are the marks obtained by 30 students in economics in a class te

frequency distribution table with class interval equal to 10.
16 13 5 8 8 7 51 48
70 19 61 17 16 36 34 42
33 72 55 62 31 3 &4 1

24 34 72 56 27 43

33. Draw scatter diagrams representing the following :
a) Perfect Positive Correlation
b) Perfect Negative Correlation
c) Positive Correlation

d) Negative Correlation
Answer any 3 questions from 34 to 38. Each carries 5 scores. (3x5=15)

34. Calculate standard deviation and co-efficient of variation for the following frequency
distribution table

Marks | Number of students
20 8
24 | 7
30 10
35 | 12
38| 6 ’
[ 40 3

35. Analyse the industrial sector reforms and tax reforms implemented as a part of liberalisation
measures in 1991,

36. Explain the sources of Human Capital Formation.

37. Analyse the challenges that the power sector in India is facing.
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32. LOMIATEARET@ B0y @O OSEIM 30 B>i5lH:RB BMSI® BOdLE 21306S MAHIWIGH6NE.

&0 opdecudd 10° @l aidlnemlal 8oy @alYEE] All®osn aigls, rdaz]e6) yé.

16 13 5 8 8 7 51 48
70 19 61 17 16 36 34 42
3 72 8 6 31 N & L}

24 34 72 56 27 43

33. @oe¥ MBI deemMAUO® (Idlaflulle:dlenm Pogd WWEBGD AUUORIS:.
a) al@lali®em salomilglal manemimuo
b) al@laiyem HMMGIAL ManeRIMO
c) sasomilglal maneniqwo

d) emwmgial qanenimuo

34 a)o@d 38 cuer 82196 y@BEM agam@ilele 3 agERATM QEMEC ag)PIm d. S BRd allme.
(3x5=15)

34. 2165 Mmadel@dleeam e yesl alleosmalglealad mlom adome.al y@@omo,
(standard deviation)ay@l@om uyemomso (co-efficient of variance) agailQ H6MENILE 4.

206 | &)518:8)60S ag)e[po
20 | 8 J
24| 7
[ 30 10
35 12

38 6

[ 40 3

35. 1991 -a HEROOAUMHOHOEM MSaISIBHOS @00 MSq el PAIMIWIE: Rl
a@lafe6006male (60l aldladendesmBgio Alltodeimo 621Gl

36. @Myany BYRIWM Oalle0emaErie poallsem@d allodle:dlee .

37. eyl prdorsael EOEIRIEB:ElHIM (adaflorvarulad alledaimo
621Q))H>.
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38. Draw less than Ogive and more than Ogive from the given below data :

Daily wage | Number of persons

00— 350 7

50 - 100 10

100 — 150 20

150 — 200 13

| 200-250 12

250 - 300 19

300 - 350 14

350 —400 9
Answer any 2 questions from 39 to 41. Each carries 8 scores. (2x8=16)
39. a) List the causes of poverty in India. 3)
b) Analyse the policies introduced by the government for alleviating poverty in India. (5)
40. a) What do you mean by sustainable development ? (2)
b) What strategies can be adopted to achieve sustainable development ? (6)

41. Calculate mean and median for the following data :

Marks Number of persons
10— 20 4

20 - 30 7 ]
30 -40 16

40 - 50 20 4

50 - 60 15
' 60 - 70 8 \
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38. ajes maelaidenm cemenald almmioe eeiqy 3o aglal, smod 3o ala) agilal

QU L.
dlaum eaumme | quyemileges ag)spe
0-50 7

50 - 100 10

100 - 150 20

150 - 200 13

200 - 250 12

250 - 300 19

300 - 350 14

350 — 400 9
39 )o@ 41 cuer 82106 )TBEIM agem®ilelje 2 ag)SRATIM EMAO ag)PIM)d:.
8 sapod allae. (2x8=

39. 2) s Wlee COEIEIETIMEE BO0MEBAD alglB:00ISIEMYS:.

b) somm i, waemead msqllenssio codiEyridaodsrm alaumie:xd allueeimo
6).2IQJ)bs.

40. a) avymudie Alle:Tmo ag)MN@LOE:I6NE BRBMOMIBEYMNE ag)(HIEM ?

b) auymudle Allé:rmoe 6E:0GlE6MM ag)OMmRjoo ®(METBOEM mflesoleenenas® ?

41. 2yues m@sIdlenymm cemengld mlimio @ow o, BWIOE:0 ag)MIN EEMBNIBELH:.

aodes | Qu)enile:g 08 ag)epe
10-20 | 4
20-30 | 7
3040 | 16
40— 50 | 20
50-60 | 15
60-70: 8
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